Chg
Ol 2 A E|

X =2 32U 7| =) 2019
aj A

SEFTULZTEQ OIS HS



Ol 21X 2]

Al
()

ol
T
o
=
S
K
ol .
HH [
S fo
X0 )
Jlo =
~ i
ol ol
0 2
Mz &
<o &
=< =
<
T
{0 m_u.._ wn
oFm0 2
ST S
jo X R
ol G
1 = M
= ol O
S0 -
el >~
0w 5
<020 =
el =
o T
ol K



T A 2AE oHe &

RHHROIA 0] 2] 2| =
CERINETEPE]

ol mo0 ol 1ol
g 50 Hy
I )
O] - KK
— 5 o3=
S 1o
| nHr N
4 W dr
= o< o __
- o
= <k B
w K Oy
0f0 < <ol
<. % 357
. ol
g M O
MR = OH=
d8 @5 T
(- ._O|_ 10 ._.Aln_ .w,_l_l
od =z Y
Mz i <5
R .« Us
A_.wq ~of
ol T mﬂaol_u =
00—  OoF Ul
mS A= <
Tl —=<O© =
K O.A_l__ m.Al_
= e:
EOK 4 m-
oy, = o100
—=y <& <oF
< 0% A\ _
S 4 00 N m..r_
o = ola
o 111 o
W< ol BIS
HZX0 & OoFmHL



Exception =22

A

C

r
r
.

HHO| A O 2|= Exception 22 E 7|H+O§ e CIQES} 8t Zajaz

0=0{ X|H Exception A=

/

A= -

Throwable 2 2iA&E F

Throwable

Exception

AccessException

UserException

\

TI0Exception

Se|AZ JHT



QAEOR Qls) mE I MH I} HAL AFZHO| LA
517 SisiM o) QX 2|2 Bfof Stk

Exception in thread "main" java.lang.ArithmeticException: / by zero
public class ExceptionTest {

public static void main(String[] args) {

int x;

< 25

System.out.println("Z=XE27%H &");
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9.2 try, catch, throws

try7= 20X 0|7t ZASrX| =L catch 7+& 22

A2 tryTt= 2POIA catchll 0|2l 70 R= 0|27 245t
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try & T/l & catch 20| M| 0{Of SHL}.

try {
(0|2 HAP)

} catch( G2 7 ) {
(o2l 4% A2)
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try {
X = 3/0;

(System.out.printin("Liil HA") ;) € 2 5 7Fefegbled UM % 2.4
} catch(ArithmeticException e) {

System.out.println("2F EA");
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try {
X = 3/10;
System.out.println("Lt4dl AH4H");
} catch(ArithmeticException e) {
(System.out.println("2F ri"); )
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class BadClass { \ *E
. . ¥ :
public void badCode(boolean bool )(throws Exception{)
if (bool){

[th row new Exceptinn();] e 0| 2 2 A oA TR
}
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try {
bad.badCode(true);

System.out.println("ZEZ= ] AM3H");

}catch (Exception e){

==

System.out.println("Exception 25 &4

tcatch (IOException e){

")

0

System.out.println("IOException & HEfi");

Exception in thread "main" java.lang.Error: Unresolved compilation problem:

Unreachable catch block for IOException. It is already handled by the
catch block for Exception
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try {
bad.badCode(true);

System.out.println("Z =4 AISH");
}catch (IOException e){

System.out.println("IOException 25 &AM");

}catch (Exception e){

System.out.println("Exception 25 &F4"):-
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try {
bad.badCode(true);

System.out.printin("Z =228 AlgH");

}catch (Exception e){
System.out.println("2 5 ErA");

}inally {
System.out.println("ZEJH =8");
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try {

System.out.println(divide());

System.out.println("==AE &
}Ycatch(ArithmeticException e){
System.out.println("&27F 0 YLICt."N

1

public int divide() throws ArithmeticException {
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